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QUESTION 1

Paradigm has operated in the heavy engineering sector for many years. A number of
newspaper commentators have attacked the company’s management because of
succession of poor results. The directors have become convinced of the need to improve
the poor growth rate. The share price of Paradigm has fallen to 99 cents from a peak of
422 cents four years ago. This years after tax profits were E4, 500 000.00. The company
has 50 million 50cents shares in issue.

The company’s corporate advisors have proposed a policy of growth by acquisition, to be
financed from cash holdings and additional borrowing. The board of Cover to Cover Ltd.
are known to be amenable to a take over bid. Cover to Cover Ltd. is regarded as sound
but unexciting. Although the last few years have seen considerable growth, the expiry of
patents means that post-tax earnings are not expected to grow by more than 3% per year.
The Managing Director of Paradigm is keen to present the acquisition of Cover to Cover
Ltd. as the turning point for group growth. However, he is unaware of any synergistic
gains that might be possible.

Covers to Cover’s shares are currently traded at E0.50, ex div. This year after-tax profits
were E2 000 000.00. The company has 16 million 20cents shares in issue. It is estimated
that costs of acquisition would reduce Paradigm’s profits by E500, 000.00

Clinton-Rodham, a firm of management consultants, was brought in to conduct a due
diligence study of a company called Cover to Cover Ltd. once the latter’s board had
agreed to discuss the possibility of a sale. Their objective is to gather sufficient
information to allow a discounted cash flow valuation of Cover to Cover Ltd.

Cover to Cover’s previous year’s profits were:

2001/2002 : 1.8 million
2000/2001 : 1.6 million
1999/2000 : 1.45 million

Analysis of the company’s cash flows suggests that Cover to Cover is presently capable
of generating the following flows in the next five years, before dividends:

2003/2004 2, 060, 000
2004/2005 2, 100, 000
2005/2006 2, 150, 000
2006/2007 2,225,000
2007/2008 : 2, 000, 000 (after a one off payment to convert a lease into a

freehold of E270, 000)

The weighted average cost risk capital of the Paradigm Group is 16% that of Cover to
Cover is 12%. The latter’s cost of equity capital is 14%. Paradigm’s board has already
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decided that Cover to Cover will effectively continue to operate as a separate unit. Its
board will be responsible for all but the highest level decisions. It will raise its own
finance.

If the bid is successful, Clinton-Rodham believes that Paradigm can restructure Cover to
Cover’s operations to reduce after tax costs by ES00, 000.00 per annum. There are also
assets in the balance sheet which could be disposed off to give a profit of E1, 000, 000
after tax. The company’s balance sheet records net assets of E10 million. It should also
be possible to release a deferred tax provision of E500, 000.

Osborne, Cover to Cover’s non executive Chairman, who retires next year, is particularly
keen to obtain as high a value as possible. His perception is coloured by his position as a
minority shareholder. He has recommended that his board accept an offer based on
previous growth. Cover to Cover pays one dividend per annum, at the year end. The
payout ratio will be 60% this year.

Required:
(i) Based on Cover to Cover’s due diligence study, how much should Paradigm be

prepared to pay for Cover to Cover? The group values acquisitions using future cash
flows, projecting the last year for which data is available forward as perpetuity.

(19 marks)
(ii) How does your result compare to the current market price? Estimate what is likely to
happen to Cover to Cover’s current share price if a bid is announced. (3 marks)

(iii) What are the weaknesses of the discounted cash flow valuation method?
(3 marks)
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QUESTION 2

Over the past decade, Thebi Ltd. has achieved an average annual growth of
approximately 7% and is about to declare a dividend 8% higher than that paid last year.
This level is consistent with expectations contained in recent press comment.

However, Thembi is offered an opportunity to invest in a project which promises DCF
return considerably above the weighted average cost of capital but which will produce no
significant cash flows for about three years. The only funds available are those which
would otherwise be used for the dividend and undertaking the project would entail not
paying a dividend at all this year.

The Managing Director is of the opinion that shareholders deserve some reward and
suggests that if the dividend is not paid this year, the company should make a bonus issue
of shares to give shareholders a ‘dividend of a capital nature’

Advise Thembi on the major theoretical and practical factors to be considered before

arriving at a decision concerning undertaking the project of paying a dividend. Comment
on the Managing Director’s suggestion for rewarding shareholders.

(Total: 25 marks)
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QUESTION 3

Peter, the owner of a Sports Exports Company in Swaziland is concerned about the value
of the British Pound over time because his firm receives pounds as payment for footballs
exported to the United Kingdom. He recently read that the Bank of England is likely to
use direct intervention in the foreign exchange market by flooding the market with

British Pounds.
Required:

(a) Forecast whether the British pound will weaken or strengthen based on the
information provided. (Smarks)
(b)

(1) Explain why it is virtually impossible to set an exchange rate between the Swazi
Lilangeni and the Pound and to maintain a fixed exchange rate.
(5marks)

(i) Distinguish between a fixed exchange rate and a floating exchange rate
and explain the advantages and disadvantages of each. (15marks)

(Total: 25 marks)
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QUESTION 4

(a) A company’s shares have a covariance of returns of 20% relative to returns for the
world market portfolio. The risk free rate of return is 5% and the expected return on the
world market portfolio is 9%. The standard deviation of returns for the world market is
25%.

Required:

@) Calculate the international cost of equity for the company. (5marks)
(@ii) Explain the main motivations behind the establishment of a diversified

portfolio internationally. (5marks)

(b) Since the Second World War there have been attempts to reduce impediments to free

trade in the world.

(i) What are the five types of integration members can arrange? (10marks)
(i) Explain two main Blocs that have been established in practice. (Smarks)
(Total: 25 marks)

End of Question Paper



Present value interest factor of $1 per period at i% for n periods, PVIF(i,n).

Period 0.01 002 003 004 005 006 0.07 008 009 010} 011 012 013 014 0.15] 016 0.17 018 019 0.20 O.N\mr o.wm._ o.mm— 0.28
1| 0990 0.980 0.971 0.962 0.952] 0.943 0.935 0.926 0.917 0.909|0.901 0.893 0.885 0.877 0.870| 0.862 0.855 0.847 0.840 0.833| 0.820 0.807 0.794 0.781
2| 0980 0.961 0943 0.925 0.907] 0.890 0.873 0.857 0.842 0.826| 0.812 0.797 0.783 0.769 0.756| 0.743 0.731 0.718 0.706 0.694| 0.672 0.650 0.630 0.610
3] 0971 0942 0915 0889 0.864| 0840 0.816 0.794 0.772 0.7561|0.731 0.712 0.693 0.675 0.658| 0.641 0.624 0.609 0.593 0.579| 0.551 0.525 0.500 0.477
4] 0.961 0.924 0888 0.855 0.823] 0.792 0.763 0.735 0.708 0.683; 0.659 0.636 0.613 0.592 0.572| 0.552 0.534 0.516 0.499 0.482| 0.451 0.423 0.397 0.373
5| 0951 0906 0863 0.822 0.784] 0.747 0.713 0.681 0.650 0.621| 0.593 0.567 0.543 0.519 0.497]) 0.476 0.456 0.437 0.419 0.402] 0.370 0.341 0.315 0.291
6] 0.942 0.888 0.837 0.790 0.746] 0.705 0.666 0.630 0.596 0.564| 0.535 0.507 0.480 0.456 0.432]) 0.410 0.390 0.370 0.352 0.335| 0.303 0.275 0.250 0.227
7| 0.933 0.871 0813 0.760 0.711] 0.665 0.623 0.583 0.547 0.513| 0.482 0.452 0.425 0.400 0.376] 0.354 0.333 0.314 0.296 0.279{ 0.249 0.222 0.198 0.178
8] 0923 0.853 0.789 0.731 0.677| 0.627 0.582 0.540 0.502 0.467| 0.434 0404 0.376 0.351 0.327] 0.305 0.285 0.266 0.249 0.233{ 0.204 0.179 0.157 0.139
9] 0914 0.837 0.766 0.703 0.645| 0.592 0.544 0.500 0.460 0.424| 0.391 0.361 0.333 0.308 0.284] 0.263 0.243 0.225 0.209 0.194| 0.167 0.144 0.125 0.108
10] 0905 0.820 0.744 0.676 0.614| 0.558 0.508 0.463 0.422 0.386]0.352 0.322 0.295 0.270 0.247| 0.227 0.208 0.191 0.176 0.162| 0.137 0.116 0.099 0.085
11| 0.896 0.804 0.722 0.650 0.585| 0.527 0.475 0.429 0.388 0.350| 0.317 0.287 0.261 0.237 0.215| 0.195 0.178 0.162 0.148 0.135| 0.112 0.094 0.079 0.066
12| 0.887 0.788 0.701 0.625 0.557| 0.497 0.444 0.397 0.356 0.319]0.286 0.257 0.231 0.208 0.187]| 0.168 0.152 0.137 0.124 0.112| 0.092 0.076 0.063 0.052
13| 0.879 0.773 0.681 0.601 0.530| 0.469 0.415 0.368 0.326 0.290] 0.258 0.229 0.204 0.182 0.163} 0.145 0.130 0.116 0.104 0.093| 0.075 0.061 0.050 0.040
14| 0.870 0.758 0661 0.577 0.505| 0.442 0.388 0.340 0.299 0.263]| 0.232 0.205 0.181 0.160 0.141| 0.125 0.111 0.099 0.088 0.078| 0.062 0.049 0.039 0.032
15| 0.861 0.743 0.642 0.555 0.481] 0417 0.362 0.315 0.275 0.239}0.209 0.183 0.160 0.140 0.123| 0.108 0.095 0.084 0.074 0.065| 0.051 0.040 0.031 0.025
16] 0.853 0.728 0.623 0.534 0.458] 0.394 0.339 0.292 0.252 0.218/0.188 0.163 0.141 0.123 0.107| 0.093 0.081 0.071 0.062 0.054| 0.042 0.032 0.025 0.019
17} 0844 0.714 0605 0.513 0.436| 0.371 0.317 0.270 0.231 0.188/0.170 0.146 0.125 0.108 0.093| 0.080 0.069 0.060 0.052 0.045| 0.034 0.026 0.020 0.015
18| 0.836 0.700 0.587 0.494 0.416] 0.350 0.296 0.250 0.212 0.180(0.1563 0.130 0.111 0.095 0.081| 0.069 0.059 0.051 0.044 0.038f 0.028 0.021 0.016 0.012
19] 0.828 0.686 0.570 0475 0.396] 0.331 0.277 0.232 0.194 0.164]0.138 0.116 0.098 0.083 0.070{ 0.060 0.051 0.043 0.037 0.031] 0.023 0.017 0.012 0.009
20| 0.820 0.673 0.554 0456 0.377] 0.312 0.258 0.215 0.178 0.149|0.124 0.104 0.087 0.073 0.061]| 0.051 0.043 0.037 0.031 0.026| 0.019 0.014 0.010 0.007
25| 0.780 0610 0478 0.375 0.295( 0.233 0.184 0.146 0.116 0.092| 0.074 0.059 0.047 0.038 0.030( 0.024 0.020 0.016 0.013 0.010] 0.007 0.005 0.003 0.002
30{ 0742 0.552 0412 0308 0.231| 0.174 0.131 0.099 0.075 0.057| 0.044 0.033 0.026 0.020 0.015]| 0.012 0.009 0.007 0.005 0.004| 0.003 0.002 0.001 0.001
35 0706 0.500 0.355 0.253 0.181{ 0.130 0.094 0.068 0.049 0.036} 0.026 0.019 0.014 0.010 0.008| 0.006 0.004 0.003 0.002 0.002| 0.001 0.001 0.000 0.000
40| 0672 0.453 0.307 0.208 0.142| 0.097 0.067 0.046 0.032 0.022| 0.015 0.011 0.008 0.005 0.004} 0.003 0.002 0.001 0.001 0.001| 0.000 0.000 0.000 0.000
50| 0.608 0.372 0.228 0.141 0.087] 0.054 0.034 0.021 0.013 0.009| 0.005 0.003 0.002 0.001 0.001| 0.001 0.000 0.000 0.000 0.000| 0.000 0.000 0.000 0.000




